Calculer en regroupant certains nombres astucieusement:

0,3+49+0,7 =
0,4+99+0,6=
02+08+22+78=
05+09+05+0,1=
04+17,2+0,6=
13,5x0,5x2=
22,3+ 14,25+ 2,75 =

Calculer en regroupant certains nombres astucieusement:

0,3+49+0,7 =
0,4+99+0,6=
02+08+22+78=
05+09+05+0,1=
04+17,2+0,6=
13,5x0,5x2=
22,3+ 14,25+ 2,75 =

Calculer en regroupant certains nombres astucieusement:

0,3+49+0,7 =
04+99+0,6=
02+08+22+78=
05+09+05+0,1=
04+17,2+0,6=
13,5x0,5x2=
22,3+ 14,25+ 2,75 =

Calculer en regroupant certains nombres astucieusement:

0,3+49+0,7 =
0,4+99+0,6=
02+08+22+78=
05+09+05+0,1=
04+17,2+0,6=

13,5x0,5x2=
22,3+ 14,25+ 2,75 =



